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ELECTIVE COURSE : COMMERCE 

ECO-7 : ELEMENTS OF STATISTICS 

Time : 2 hours 
Maximum Marks : 50 

Note : There are three sections and all are compulsory. 

SECTION - A 
1. 	Fill in the blanks with appropriate word (s) given 

in brackets. 	 5x1=5 
(a) 	 can be determined with the 

help of ogive (Median /Mean). 
(b) Primary data are called 	 data. 

(first hand / second hand) 
(c) A bar signifies 	 (area / length) 
(d) 	 is always expressed in terms of 

percentage (varience / co-efficient of 
variation). 

(e) A discrete variable is the result of 
	 (measurement / counting). 

2. 	State whether the statements given below are 
true or false. 	 5x1=5 
(a) 

	

	In a census investigation all the units of the 
population are investigated. 
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(b) An exclusive frequency distribution has 

non-overlapping class limits. 

(c) Negative values cannot be presented using 

a simple bar diagram. 

(d) Mode of a set of data cannot be greater than 

arithmetic mean. 

(e) Standard deviation is always computed 

from mean. 
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SECTION - B 
Attempt any two of the following : 	 8+7 

3. 	(a) Prepare a frequency distribution by 

exclusive method starting with 5 - 10 : 

6 21 5 20 33 10 10 30 45 7 19 37 
17 20 19 28 11 20 30 26 20 43 15 5 
37 36 27 26 12 19 

(b) Explain the process of constructing a 

cumulative frequency graph. 

4. 	(a) Calculate the value of median for the 

following frequency distribution : 	10+5 

Class : 60 - 62 63 - 65 66 - 68 69 - 71 72 - 74 
Frequency : 17 39 48 34 12 

(b) The mean weight of 150 students of a class 

is known to be 60 kg. The mean weight of 

the boys is 70 kg while the mean weight of 

girls is 55 kg. Estimate the number of boys 

and girls in the class. 

5. 	(a) The following data relates to the goals scored 

by team A in a football season : 	10+5  

No. of Goals scored in a match : 0 1 2 3 4 
No. of Match played : 1 9 7 5 3 

For team B, the arrange number of goals 

scored per match was 2.5 with a standard 

devaition of 1.25 goals. Find which team is 

more consistent in its performance. 
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(b) For a given data, Q1=58, Md=59 and 

Q3=61. Find the co-efficient of skewness. 

6. 	What is sampling ? Explain briefly the various 

methods of sampling. 	 3, 12 
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SECTION - C 

7. 	Distinguish between any two of the following : 5+5 

(a) Histogram and Historigram 

(b) Primary and secondary data 

(c) Discrete variable and continuous variable 

(d) Dispersion and skewness 
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f<R151g, 2012 
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(sus - A 

1. 	ch tdch-1 rq ,  TR qr -4 -4 3trgar klcq gl(1 f{Wr 
5x1=5 

4:1 14 -1-F-qR I 

(a) (ogive)  Ohl t1el+~dl 

*ft-zrr 	*icncir t I (iTrrtzrwr Twat) 

(b) vrtirRiT aTtw# i 	3#-*1 	 

t I (Ttro-  	) 

(c) Qscr) qus (bar) *eiTU WT-dT t 	 

(/) 

(d) -Ftf Tre4i-a 

Ala t I ( 	/ f4q7tri 

(e) 	 Ti"gt 	(discrete variable) 	 

t I (TIN / 	 
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2. 	-dli f-.  -14--iFoFoci -114 	Trr -T2.1-i HO 	t 4R 
Ii gold I 	 5x1=5 

(a) k1,41 -1'1u1-11 (census) - 1*-1-0.1 -4 -wi-frJ -1-  TTTITff 

1-)1 TI-4UuT f-*-Tfr \TI1c11 t I 

(b) -cr--  3-T1T-c4 \311 (exclusive) airlft -q'"9- 	chl cI4 TnlIfT 

3Tc1WITITt 	1c11 t I 

(c) -1a-,1c411-, IT--- f wr Rr-d-r-a-F4- -TT TI-T T33 31-ftU 

--tr-zr'rr wr le f-*-Trr 7r -ta-)c11 I 

(d) .47n.  1-ft f-14-ich 	r'rzfl3T .Tf:It .14-11c1.( Tfraf 

74 3-1f4w la t (-1011c11 I 

(e) 4-11-11-) fq----ff wr -Ltro-)01 717-r igwr 74 t fwzrr 

\311cIlt1 
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(gus - B 

f:14—irrirOcl 	 71t 	: 	8+7 
3. 	(a) 	F-14-ifil 	Foci 	31r4rT TR 5 - 10 	7RT9-1 

: 

6 21 5 20 33 10 10 30 45 7 19 37 
17 20 19 28 11 20 30 26 20 43 15 5 
37 36 27 26 12 19 

(b) 	Tiqt 3111Th' 	r4,r m1 t-it-=11i a->1 

0,-AR9q1 -1-r--471 

4. 	(a) 	F-14-11ii d 3-1-9Th 	 4-1 truTwr 	fc 

10+5 4;1  	: 

-q-Tf : 60 - 62 63 - 65 66 - 68 69 - 71 72 - 74 

3-711t : 17 39 48 34 12 

(b) 	•-11 t 150 1dEr f 	1 14T u4 1117 60 rchri);114-I 

t I 	 9TR 70 rch C-11 4) I 	 t 

VFW Q-1 	Tr [uT irr-{ 55 F.41,,H4-1 ti 	ti 

•Tqr 	 cisra-A cf-)1 4,t.,-.11 71 I cf 	I 

5. 	(a) 	F14-11-40c1 31t*- Via, 	z 4I i4-79- 	d:144 A 

gRrf-*--7 TR 4110 Tf-qfem t : 	 10+5 

0 1 2 3 -f--7 	. ii 4=4 14 	77 4 1 rd 	T t-f.(sq f : 

tr..  TR 1Wi 	Tit rr : 1 9 7 5 3 
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tTI B 	 -51t 4-A 	Ji 	at-Tu 

4,1. 9q1 2.5 2,ft 2-TT 	ch T 	r1-1c1-1 1.25 	(1 

-11c1 	1-4) 	ti=r chl f919:11q-ff 

#1-m (consistent) % I 

(b)   31ff =h1 Q1=58, Md=59 	Q3=61 

* I ---t=1 -4 411-P4 7:11-fT (Co-efficient of skewness) 

6. 	c-1-1-1 (sampling) -4 *611 	 ch"1-  3, 12 

fq-fiF-;r,  rciNA 	Tk-)-cr -44 oqRsii chi 	I 
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7. 	-hirrirtgcl 14 A.  r" -- TT?'A' 34—d-{ qdI 1: 	 5+5 

(a) 31-M F-c1.4 -uqr ci-dFoci-) 

(b) T2,1-1Tr 

(c) tftd +-it (Discrete variable) c-  TI 3-R1 

(Continuous variable) 

(d) 31-crf--*—Tur kmzEr 
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